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The economy of China ……………….  in short   time.

supply located burgeoned closed

1-

1. 2. 3. 4.

Fill in the blanks.

Maps ……..  realms of countries.

town make delimit shape 

2-

1. 2. 3. 4.

There are many historical ………….. in Iran ,like : Isfahan, Shiraz ,and Mashhad.

towns shown cracks stories

3-

1. 2. 3. 4.

The area has a high …………. of people.

measure density line mark 

4-

1. 2. 3. 4.

Some people  have  ………………….    to villages.

residence crown 

seasonal migration shops

5-

1. 2.

3. 4.

 ………… is  assumed to be the principle activity of rural population.

Services Industry Crafting Agriculture

6-

1. 2. 3. 4.

During  the early 1980’s much of rural geography was characterized by a form of  …………… .

applied positivism structuralism

functionalism concern

7-

1. 2.

3. 4.

The new road was supposed to ………………………. the congestion problem.

alleviate agency increase sum

8-

1. 2. 3. 4.

A society run on the principles of ……………… and justice.

emphasis discrete contribute equity

9-

1. 2. 3. 4.

Britain wants to ……………………… its position as a world power.

 maintain  motive imply source

10-

1. 2. 3. 4.

The rural planners attempt to ………………problems , organize resources.

concept discrete identify map

11-

1. 2. 3. 4.

Concepts of rural planning   vary and this  leads to ……………… between  planners, policy-makers

and implementers.

confusion center need government

12-

1. 2. 3. 4.
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The cost of land in Tokyo is …………. .

prohibitive profound narrow surround

13-

1. 2. 3. 4.

The devastating effect of economic ………. decreased the interest of education. 

duty depression side borrow

14-

1. 2. 3. 4.

Jim …… to Manhattan every day.

shadow mental commute function

15-

1. 2. 3. 4.

The gradual ………………… from woodland to farmland occur in many parts of the world.

transformation move strict complete

16-

1. 2. 3. 4.

At the start of the twenty-first century there is a more ……… situation with an overall tendency

towards rural population again.

modernization ambiguous redefined remained

17-

1. 2. 3. 4.

Tourism ……………………  income for local communities.

skill talent decrease generates

18-

1. 2. 3. 4.

Government attempts to …………….the economy.

surround sort stabilize goals

19-

1. 2. 3. 4.

This is not to say that the poor will necessarily own an ..............., or even provide the labour, just

because it is located in a rural area, but location is a first step.

enterprise follows struggle shipment

20-

1. 2. 3. 4.

Initially, there was a phase of resurgence for rural geography, particu-larly in parts of Europe.
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21-

1. 2. 3. 4.

Choose the Persian equivalents of the following words.

It is possible for one arm of planning (e.g. agricultural improvement) to conflict with another (e.g.

landscape conservation).
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22-

1. 2. 3. 4.

Policy-making and implementation occur at different scales of government.
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23-

1. 2. 3. 4.
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At first glance a sustainable livelihoods approach would appear to fit well with sustainable rural

development . 
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24-

1. 2. 3. 4.

fluctuate
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25-

1. 2. 3. 4.

commute
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26-

1. 2. 3. 4.

  relocate
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27-

1. 2. 3. 4.

 transformation
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28-

1. 2. 3. 4.

inhabitant
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29-

1. 2. 3. 4.

Rural population
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1. 2. 3. 4.
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